


1/4000

D mmmn



F-B ( 50°) ( 35°)

R/B /B R/B /B ‘ R/B /B \
1 2 1/2400 1/5200 1/1500 1 2 1/2400 1/4900 1/1500 12 1/2400 1/4800
2 3 1/2100 1/3700 1/2600 2 3 1/2000 1/3300 1/2400 2 3 1/2000 1/3300 1/2400
3 4 1/2700 1/3900 1/1600 3 4 1/2700 1/3700 1/1600 3 4 1/2600 1/3700 1/1600
4 1 1/2300 1/2900 1/2400 4 1 1/2200 1/2600 1/2300 4 1 1/2200 1/2600 1/2300
1 3 1/3700 1/6100 1/2200 1 3 1/3300 1/5100 1/2000 13 1/3300 1/4900 1/2000
2 4 1/2600 1/4300 1/3100 2 4 1/2600 174100 1/3000 2 4 1/2600 1/4100 1/2900

F-B 24Kkm)
50<= 20km)

R/B T/B
1 2 1/2400 1/5100 1/1500 A" N R/B T/B
2 3 1/2100 1/3700 1/2600 1 2 1/2400 174800 171500
3 4 1/2700 1/3800 1/1600 2 3 1/1900 1/3000 1/2200
4 1 1/2300 1/2900 1/2400 3 4 1/2600 1/3600 1/1600
13 1/3700 1/6100 1/2200 4 1 1/2000 1/2400 1/2100
2 4 1/2600 1/4200 1/3100 13 1/3000 1/4500 1/1900

IR o — 2" 2 4 1/2400 | 1/3800_| _1/2700

R/B T/B
1 2 I 1/2100 1/3900 1/1400
2 3 1/2000 1/3400 1/2400
3 4 1/2400 1/3200 1/1500 - 1/ O
4 1 1/2200 1/2700 II 1/2300
1 3 1/3600 1/5500 1/2200 1/
2 4 1/2300 1/3400 1/2600
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1/1000
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